Q1. He tried to solve the sum but he ……… not.
a) can
b) could
c) may
d) might
Q2. Had you worked hard, you……… have passed the examination.
a) will
b) shall
c) should
d) would
Q3. I ran fast so that I ……… catch the train.
a) can
b) could
c) may
d) might
Q4. You ……… read his latest book.
a) must
b) should
c) could
d) might
Q5. As you sow, so ……… you reap.
a) will
b) shall
c) should
d) would
Q6. He ……… (write) to me every month.
(A) is writing
(B) writes
(C) has been writing
(D) has been writing
Q7. This servant …….. (work) with us for ten years.
(A) works
(B) has been working
(C) is working
(D) does work
Q8. How …….. you ……… (get) on with your studies?
(A) is, get
(B) do, get
(C) is, getting
(D) have, got
Q9. She …….. (leave) for Jammu yesterday.
(A) leaves
(B) is leaving
(C) has been leaving
(D) left
Q10. I……… (write) to her last week.
(A) wrote
(B) have been writing
(C) had been writing
(D) written
Q11. (a) The beautiful / (b) surrounding of the place / (c) enchanted me./ (d) No error
a) The beautiful
b) surrounding of the place
c) enchanted me.
d) No error
Q12. (a) I went to the temple / (b) with my parents, aunts / (c) and cousin sisters. / (d) No error
a) I went to the temple
b) with my parents, aunts
c) and cousin sisters
d) No error
Q13. (a) Children are playing / (b) and making mischiefs/ (c) as their holidays have started./ (d) No error.
a) Children are playing
b) and making mischiefs
c) as their holidays have started
d) No error
Q14.The English teacher (a)/gave him a home work (b)/to complete that (c)/by night positively. (d)
a) The English teacher
b) gave him a home work
c) to complete that
d) by night positively.
Q15. (a) You are among those/ (b) man who earned name and fame not by / (c) chance but by hard work ./ (d) No error
a) You are among those
b) man who earned name and fame not by
c) chance but by hard work .
d) No error
Q16. He is a famous scientist about ..........many books have been written.
a) whom
b) whose
c) who
d) where
Q17. The book ,............. you gave me is not so useful for learning English speaking.
a) where
b) which
c) when
d) whom
Q18. This is the house ............... I was born.
a) when
b) where
c) why
d) whose
Q19. There is nothing ........... I can do for you.
a) what
b) that
c) why
d) when
Q20. The girl .......... you see at the desk is the receptionist.
a) who
b) whom
c) whose
d) which
Q21. I’ve been invited to a wedding ...................... 15th August.
a) at
b) on
c) in
d) over
Q22. We travelled overnight to London and arrived ......... 5o’clock ................. the morning.
a) at,in
b) on,in
c) at,on
d) by,from
Q23. This election is different .................. mine.
a) from
b) with
c) since
d) to
Q24. I lost my passport ........ the way to India.
a) in
b) at
c) by
d) on
Q25. If you live in a corrupt society, you cannot easily rise ..... the prevailing corruption.
a) upon
b) over
c) above
d) beyond
Q26. Rice is selling ................ five rupees a kilo.
a) by
b) with
c) up
d) at
Q27. Is there anything interesting ........ the paper today ?
a) on
b) by
c) in
d) at
Q28. I am grateful ........ my friends for their moral support.
a) for
b) to
c) of
d) with
Q29. He is .................... the top.
a) on
b) at
c) of
d) in
Q30. Look ................... the picture.
a) for
b) at
c) along
d) of
Direction (31-35): In the following question, two statements and five connectors are given. Only one of the connectors from those given can be used to combine the given two statements into one sentence without changing the meaning. Choose that connector as your answer.

Q31. I. The teacher has asked the students not to copy from others during the examination.
 
II. The students kept on copying during the final examination resulting in the expulsion of two of them from the university.
(a) Yet
(b) If
(c) As
(d) On account of

Q32. I. I was not in a situation to step out of the house yesterday because of my severe headache.
 
II. I attended the sales meeting at my office on the instructions of my senior management.
(a) Since
(b) Nevertheless
(c) On the other hand
(d) By comparison
Q33. I. I was very tired and exhausted after spending the whole day at the hospital.
 
II. I went to sleep without having dinner after coming back.
(a) So
(b) In fact
(c) Especially
(d) And
Q34. I. The minister will definitely come to this locality for election campaigning within the next two days.
 
II. He may not come here if he is denied the ticket from this constituency by his party.
(a) Since
(b) Unless
(c) In addition to
(d) Of course
Q35. I. Like every second Indian, I am a big fan of sports and I also like to watch a lot of matches with my friends.
 
II. I love to watch football matches and enjoy the nail-biting finish most of the matches have.
(a) Especially
(b) Although
(c) Whether
(d) Nevertheless
Directions (36-40): Read the passage carefully and choose the best answer to each question out of the four alternatives.

In the early 20th century, polio was one of the most feared diseases in industrialized countries, paralysing hundreds of thousands of children every year. Though most people recovered quickly from polio, some suffered temporary or permanent paralysis and even death. Many polio survivors were disabled for life. They were a visible, painful reminder to society of the enormous toll this disease took on young lives.
Polio is the common name for poliomyelitis, which comes from the Greek words for grey and marrow, referring to the spinal cord, and the suffix –itis, meaning inflammation. Poliomyelitis, shortened, became polio. For a time, polio was called infantile paralysis, though it did not affect only the young.
Polio is caused by one of three types of polioviruses (which are members of the Enterovirus genus). These viruses spread through contact between people, by nasal and oral secretions, and by contact with contaminated faeces. Poliovirus enters the body through the mouth, multiplying along the way to the digestive tract, where it further multiplies. In about 98% of cases, polio is a mild illness, with no symptoms or with viral-like symptoms. In paralytic polio, the virus leaves the digestive tract, enters the bloodstream, and then attacks nerve cells. Fewer than 1%-2% of people who contract polio become paralyzed. In severe cases, the throat and chest may be paralyzed. Death may result if the patient does not receive artificial breathing support.
Polio reached epidemic proportions in the early 1900s in countries with relatively high standards of living, at a time when other diseases such as diphtheria, typhoid, and tuberculosis were declining. Indeed, many scientists think that advances in hygiene paradoxically led to an increased incidence of polio. The theory is that in the past, infants were exposed to polio, mainly through contaminated water supplies, at a very young age. Infants’ immune systems, aided by maternal antibodies still circulating in their blood, could quickly defeat poliovirus and then develop lasting immunity to it. However, better sanitary conditions meant that exposure to polio was delayed until later in life, on average, when a child had lost maternal protection and was also more vulnerable to the most severe form of the disease.
Because of widespread vaccination, polio was eliminated from the Western Hemisphere in 1994. In 2016, it continued to circulate in just Afghanistan and Pakistan, with occasional spread to neighbouring countries. Vigorous vaccination programs are being conducted to eliminate these last pockets.  Polio vaccination is still recommended worldwide to lower the risk of imported cases.
There has also been success in eradicating certain strains of the virus; of the three types of wild polioviruses (WPVs), the last case of type 2 was reported in 1999 and its eradication was declared in September 2015; the most recent case of type 3 dates to November 2012 and this strain was declared as globally eradicated in October 2019.

Q36. Why is polio vaccination still recommended worldwide?

(a) To eliminate the strains of the wild polioviruses.
(b) To prevent the risk of getting other severe forms of the diseases such as diphtheria, typhoid, and tuberculosis.
(c) To boost the immunity system.
(d) To minimise the risk of imported cases.

Q37. The last case of wild poliovirus type 2 was reported in which year?
(a) In 2016
(b) In November 2012
(c) In 1999
(d) in 1994

Q38. What is the synonym of the word ‘Vigorous’ as per the context of the passage?
(a) Healthy
(b) Resolute
(c) Energetic
(d) Flourishing

Q39. Which of the following statement(s) is (are) false as per the passage?
(i) In about 98% of cases, polio is a mild illness, with no symptoms or with viral-like symptoms.
(ii) Polio virus affects only the young.
(iii) Polio was eliminated from the Western Hemisphere in 1999.
(iv) Fewer than 1%-2% of people who contract polio become paralyzed.
(a) Only (i)
(b) Only (ii)
(c) Both (ii) and (iii)
(d)Both (ii) and (iv)

Q40. Why do many scientists think that advances in hygiene causes an increased incidence of polio?
(a) Because Polio spreads rapidly in a large number of people within a short period of time in the early 1900s in countries despite high standards of living.
(b) Exposure to polio was delayed because of advances in hygiene until later in life, when a child had lost maternal protection and hence was more vulnerable to the disease. 
(c) Better sanitary conditions increase the exposure to polio virus and other diseases at a very young age.
(d) Advances in hygiene makes the immune systems of infants low, thus failing to quickly defeat poliovirus.

Q41. ମନଃ + ବାଞ୍ଛା = କ’ଣ ହେବ ?
(a) ମାନବାଞ୍ଛା
(b) ମନୋବାଞ୍ଛା
(c) ମନାବାଞ୍ଛା
(d) ମନ ଅବଞ୍ଚା

 
 Q42. ଭିନ୍ନଧର୍ମୀ ଶବ୍ଦଟିକୁ ବାଛ ?
(a) ଦିଗନ୍ତ
(b) ଦିଗ୍ ବଳୟ
(c) ଜଗନ୍ନାଥ
(d) ଦିଗ୍ ଗଜ
 
Q43. କେଉଁଟି ଠିକ୍ ?
(a) ନିରିହ
(b) ନିରୀହ
(c) ନୀରିହ
(d) ନୀରୀ
 
Q44. ଭୂର୍ଦ୍ଧ୍ଵ - ସନ୍ଧି ବିଚ୍ଛେଦ କଲେ କ’ଣ ହେବ ?
(a) ଭୂ+ର୍ଦ୍ଧ୍ଵ
(b)ଭୂ+ର୍ଦ୍ଧ୍ବ
(c) ଭୂ+ଊର୍ଦ୍ଧ୍ଵ
(d)ଭୂ+ଊର୍ଦ୍ଧ୍ଵ
 
Q45.  ଅନ୍ଵେଷଣ – ସନ୍ଧି ବିଚ୍ଛେଦ କଲେ କ’ଣ ?
(a) ଅନ୍ଵେ+ସାନ
(b) ଅନୁ +ଏଷଣ
(c) ଅ + ନ୍ଵେଷଣ
(d) ଅନ+ୱେଷଣ
 
Q46. ସ୍ଵାଗତ – ସନ୍ଧି ବିଚ୍ଛେଦ କଲେ କ’ଣ ହେବ ?
(a) ସ୍ଵ+ଆଗତ
(b) ସ୍ଵ +ଗାତ
(c ସ୍ଵ+ଆଗତ
(d) ସୁ +ଆଗତ
 
Q47. ନୟନ – ସନ୍ଧି ବିଚ୍ଛେଦ କଲେ କ’ଣ ହେବ ?
(a) ନୟ + ଅନ
(b) ନ +ୟନ
(c) ନୟ +ଅନ
(d) ନେ +ଅନ
 
Q48. ପବନ –ସନ୍ଧି ବିଚ୍ଛେଦ କଲେ କ’ଣ ହେବ ?
(a) ପବ୍ +ଅନ
(b) ପବ + ଅନ
(c)ପୋ + ଅନ
(d) ପୂ + ଅନ
 
Q49. ଗବାକ୍ଷ -ସନ୍ଧି ବିଚ୍ଛେଦ କଲେ କ’ଣ ହେବ ?
(a) ଗୋ + ଅକ୍ଷ
(b) ଗବ +
(c) ଗବ୍ + ଅକ୍ଷ
(d) କେଉଁଟି ନୁହେଁ

Q50.  ବାଗାଜମ୍ବର – ସନ୍ଧି ବିଚ୍ଛେଦ କଲେ କ’ଣ ?
(a) ବାଗ + ଆଡମ୍ବର
(b) ବକ୍ + ଗାଡମ୍ବର
(c)  ବା + ଗାଡମ୍ବର
(d) ବଗଡ + ଆମ୍ବର

Q51. ମାତାପିତା ବ୍ୟାସ ବାକ୍ୟ କ’ଣ ହେବ?
(a) ମାତା ଓ ପିତା
(b) ମାତା ପିତାଙ୍କୁ ପରି
(c) ମାତା ସଦୃଶ ପିତା
(d) ମାତା ପିତାଙ୍କଠାରୁ ବଡ଼
 
Q52. ଅନ୍ୟଗ୍ରାମ- ଏକ ପଦ କଲେ କ’ଣ ହେବ?
(a) ଅନ୍ତରଗ୍ରାମ
(b) ଗ୍ରାମ ଅନ୍ୟ
(c) ଗ୍ରାମ ଅନ୍ତର
(d) ଗ୍ରାମାନ୍ତର
 
Q53. ସାବିତ୍ରୀ ନାମ ଯେଉଁ ବାଳିକାର ଏକ ପଦ କଲେ କ’ଣ ହେବ?
(a) ସାବିତ୍ରୀ
(b) ସାବିତ୍ରୀ ବାଳିକା
(c) ବାଳିକା ସାବିତ୍ରୀ
(d) ସାବିତ୍ରୀ ନାମୀ
 
Q54. ଧବଳ କମଳ– କି ସମାସ?
(a) ତପୁରୁଷ
(b) କର୍ମଧାରୟ
(c) ବହୁବ୍ରୀହି
(d) ଦ୍ଵୟଂ
 
Q55. କମଳଧବଳ– କି ସମାସ?
(a) ଉପମିତ କର୍ମଧାରୟ
(b) ଉପମାନ କର୍ମଧାରୟ
(c) ମଧ୍ୟପଦଲୋପୀ କର୍ମ ଧାରୟ
(d) ରୂପକ କର୍ମଧାରୟ

ନିମ୍ନଲିଖିତ ଅନୁଚ୍ଛେଦଟି ପଢି ପ୍ରଶ୍ନ (56-60)ର ଉତ୍ତର ଦିଅନ୍ତୁ |
ପ୍ରକୃତ ଧର୍ମ ସହନଶୀଳତା ଓ ସହଯୋଗ ବଢ଼ାଇ ଶାନ୍ତି, ପ୍ରଗତି ଓ ସମୃଦ୍ଧି ଘଟାଇଥାଏ | ପ୍ରକୃତରେ ଦେଖିବାକୁ ଗଲେ ଧର୍ମରେ
କୌଣସି ତ୍ରୁଟି ନାହିଁ | ସବୁ ଧର୍ମ କଲ୍ୟାଣର ବାର୍ତ୍ତା ପ୍ରଚାର କରିଥାନ୍ତି | କେବଳ ଧର୍ମୋନ୍ମତ୍ତମାନେ ସମସ୍ତ ପ୍ରକାର
ବିଶୃଙ୍ଖଳା ଘଟାଇଥାନ୍ତି | ସେଇମାନେ କେବଳ ଧର୍ମକୁ ଅଫିମ ନିଶାରେ ପରିଣତ କରିଥାନ୍ତି | ପ୍ରକୃତ ଧର୍ମବିଶ୍ୱାସୀ ଲୋକର
ମନ ଉପରେ ସବୁ ନିର୍ଭର କରେ - ସେ ଏହାର (ଧର୍ମର) ସଦବ୍ୟବହାର ଅସଦବ୍ୟବହାର କରିପାରେ | ସେ ଏହାକୁ ନିନ୍ଦିତ କରିପାରେ
| ଖ୍ରୀଷ୍ଟଧର୍ମର ପ୍ରବର୍ତ୍ତକ ଯୀଶୁ କହନ୍ତି - ଦେଖ, ମୁଁ ଦ୍ୱାର ପାର୍ଶ୍ୱରେ ଠିଆ ହୋଇ ଆଘାତ କରୁଛି, ଯଦି କୌଣସି ଲୋକ
ମୋର ଧ୍ୱନି ଶୁଣେ ଏବଂ ଦ୍ୱାର ଖୋଲେ, ମୁଁ ତା ନିକଟକୁ ଆସିବି, ତା ସହ ଭୋଜନ କରିବି, ସେ ମୋ ସହିତ ଭୋଜନ
କରିବ | ଖ୍ରୀଷ୍ଟୀୟ ଅନୁଶାସନ କହେ - ତୁମର ସମଗ୍ର ହୃଦୟ, ଆତ୍ମା ଶକ୍ତି ଦେଇ ତୁମେ ତୁମର ଈଶ୍ୱରଙ୍କୁ ଭଲ ପାଇବ
| ଯେଉଁମାନେ ଏଇ ଧର୍ମୀୟ ଅନୁଶାସନର ଅନୁସରଣ କରନ୍ତି ସେମାନେ ସାର୍ବଜନୀନ ଧର୍ମ ମନ୍ଦିରର ମଣିଷ | ଅନ୍ୟମାନେ ଆମ
ପ୍ରତି ଯେପରି ବ୍ୟବହାର ପ୍ରଦର୍ଶନର ଆଶା କରୁ, ଆମ୍ଭେମାନେ ଅନ୍ୟମାନଙ୍କ ପ୍ରତି ସେହି ପ୍ରକାର ବ୍ୟବହାର ପ୍ରଦର୍ଶନ
କରିବା ଉଚିତ | ହିନ୍ଦୁଧର୍ମ ଏଇ ଆଦର୍ଶରେ ଦୃଢ଼ ବିଶ୍ୱାସ ସ୍ଥାପନ କରେ, ହିନ୍ଦୁଧର୍ମ କିଛି ସାଂପ୍ରଦାୟିକ ଧର୍ମ ନୁହେଁ | ବେଦ,
ଉପନିଷଦ, ବେଦାନ୍ତ, ପୁରାଣ ଓ ଗୀତାରେ ମୁନି ଋଷିଙ୍କ ଅନୁଭବର ବାଣୀ ଅନୁଧ୍ୟାନ କଲେ ଜଣାଯିବ ଯେ ଏହା ଦେଶ କାଳ ପାତ୍ର ଓ
ସଂପ୍ରଦାୟର ଉର୍ଦ୍ଧ୍ବରେ ସମଗ୍ର ବିଶ୍ୱର କଲ୍ୟାଣ ଚାହିଁଛି | ମନ୍ତ୍ରଦ୍ରଷ୍ଟା ଋଷିଙ୍କ ନିକଟରେ ଦେଶୀ ଓ ବିଦେଶୀ ଭେଦଭାବ
ନାହିଁ | ସମଗ୍ର ବସୁଧା ତା ନିକଟରେ ଏକ ପରିବାର | ବିଷ୍ଣୁ ପୁରାଣ କହେ - ସର୍ବତ୍ର ନିଜ ଭଳି ସମସ୍ତଙ୍କୁ ସମାନ ଦୃଷ୍ଟିରେ
ଦେଖିବ | ଏଇ ସମତ୍ଵ ବା ସମଦର୍ଶନ ହେଉଛି
ଭଗବାନଙ୍କର ପୂଜା | ଉପନିଷଦ, ବ୍ରହ୍ମସୂତ୍ର, ଶ୍ରୀମଦ୍ ଭଗବଦ୍ ଗୀତା ଓ ଶ୍ରୀମଦ୍ ଭାଗବତରେ ଏଇ ସମଦର୍ଶନର ବାଣୀ
ଉପଦେଶ ଛଳରେ ନାନା ଘଟଣାରେ ବର୍ଣ୍ଣନା କରାଯାଇଛି | ପୁଣି ହିନ୍ଦୁ ଧର୍ମର ସନ୍ତାନ ବୌଦ୍ଧଧର୍ମ ପ୍ରେମ ଓ ସହାନୁଭୂତି
(କରୁଣା) ଜରିଆରେ ଜାତି ଓ ଦେଶଗତ ପ୍ରତିବନ୍ଧକ ଅତିକ୍ରମ କରିବାର ଘୋଷଣା କରିଛି | ଏ ପ୍ରକାର ଧର୍ମରେ ସାଂପ୍ରଦାୟିକ
ସଂକୀର୍ଣ୍ଣତା ନାହିଁ | ଏହା ସର୍ବଦା ଗଠନ ଧର୍ମୀ, ଶାନ୍ତ ଓ ପବିତ୍ର | ଏ ପ୍ରକାର ଧର୍ମ ଅମୃତ ଓ ଶାଶ୍ୱତ ଆନନ୍ଦର ସନ୍ଧାନ
ଦିଏ | ବୈଦିକ ଋଷିଙ୍କ ବାଣୀ ଦେଶ, କାଳ ଓ ଜାତିର ଉର୍ଦ୍ଧ୍ଵରେ ସମଗ୍ର ମାନବ ଜାତି ପାଇଁ ଅଭିପ୍ରେତ | ତାଙ୍କ ଦୃଷ୍ଟିରେ
ମାନବ ମାତ୍ରେ ଅମୃତର ସନ୍ତାନ | ତେଣୁ ସେ ଉଦାର କଣ୍ଠରେ ଗାଇଛନ୍ତି ଶୃଣ୍ବନ୍ତୁ ବିଶ୍ୱେ ଅମୃତସ୍ୟ ପୁତ୍ରାଃ | ଭାରତର ଏଇ
ସନାତନ ବୈଦିକ ଧର୍ମର ସାର୍ବଜନୀନ ଆବେଦନ ପ୍ରାଚ୍ୟ, ପାଶ୍ଚାତ୍ୟ ମନୀଷୀ, ଦାର୍ଶନିକ ଓ ଲେଖକମାନଙ୍କୁ ପ୍ରଶଂସାମୁଖର
କରିଛି | ଭାରତୀୟ ଧର୍ମ ଓ ସଂସ୍କୃତିର ମହତ୍ତ୍ୱ ସଂପର୍କରେ ମାକ୍ସୁମୁଳର, ରୋମାରୋଲା, ଇମର୍ଶନ, ସୋପେନ୍ ହାଓୟାର୍‌ ଓ
ବିଶ୍ୱବିଖ୍ୟାତ ଐତିହାସିକ ଡଃ ଆରନ୍ ଲଡ ଟୟନ୍ ବିଙ୍କ ଉଚ୍ବସିତ ପ୍ରଶଂସା ପ୍ରଣିଧାନଯୋଗ୍ୟ |

Q56.କେଉଁମାନେ କଲ୍ୟାଣର ବାର୍ତ୍ତା ପ୍ରଚାର କରୁଥିବା ଧର୍ମକୁ ଅଫିମ ନିଶାରେ ପରିଣତ କରିଥାନ୍ତି ?
(A)ଧର୍ମଗୁରୁ
(B)ଧର୍ମପ୍ରଚାରକ
(C)ଧର୍ମୋନ୍ମତ୍ତମାନେ
(D)ସାଧୁ ସନ୍ଥ

Q57.ଖ୍ରୀଷ୍ଟୀୟ ଅନୁଶାସନ କ’ଣ କହେ ?
(A)ଈଶ୍ୱରଙ୍କୁ ଭଲ ପାଇବା
(B)ଈଶ୍ୱରଙ୍କୁ ପୂଜା କରିବା
(C)ଈଶ୍ୱରଙ୍କୁ ଧ୍ୟାନ କରିବା
(D)ଉପୋରକ୍ତ ସମସ୍ତ

Q58.ନିମ୍ନୋକ୍ତ କେଉଁଟି ହିନ୍ଦୁମାନଙ୍କର ଧର୍ମଗ୍ରନ୍ଥ ଅଟେ ?
(A)ଗୀତା
(B)କୋରାନ୍
(C)ବାଇବେଲ୍
(D)ଉପୋରକ୍ତ କେଉଁଟି ନୁହେଁ

Q59.ସମଦର୍ଶୀଚେତନା କେଉଁ ପୁରାଣରେ ଲିଖିତ ହୋଇଛି ?
(A)ଶିବପୁରାଣ
(B)ବିଷ୍ଣୁପୁରାଣ
(C)ହନୁମାନ ଚାଳିଶା
(D)ମହାଭାରତ

Q60.ମାନବମାତ୍ରେ ଅମୃତର ସନ୍ତାନ| ଏହି ଉକ୍ତିଟି କେଉଁ ଧର୍ମର ମୂଳମନ୍ତ୍ର ?
(A)ବୌଦ୍ଧଧର୍ମ
(B)ଖ୍ରୀଷ୍ଟଧର୍ମ
(C)ହିନ୍ଦୁଧର୍ମ
(D)ବାହାହିଧର୍ମ

ଇଂରାଜୀରୁ ଓଡିଆ ଅନୁବାଦ (Q.61-65)

Q61. We have taken our breakfast.
(a) ଆମେ ଆମର ଜଳଖିଆ ନେଇଛୁ |
(b) ଆମେ ଆମର ଜଳଖିଆ ଖାଉଛୁ |
(c) ଆମର ସକାଳ ଜଳଖିଆ ଥିଲା |
(d) ଆମେ ଆମର ଜଳଖିଆ ନେଇ ସାରିଛୁ |

Q62. He called a taxi for me.
(a) ସେ ମୋତେ ଟ୍ୟାକ୍ସି ବୋଲି ଡାକିଲେ।
(b) ସେ ମୋ ପାଇଁ ଟ୍ୟାକ୍ସି ଡାକିଲେ।
(c) ସେ ମୋ ପାଇଁ ଟ୍ୟାକ୍ସି ପାଇଲେ |
(d) ସେ ମୋତେ ଟ୍ୟାକ୍ସି ବୋଲି ଡାକିଲେ।

Q63. Women learn English faster than men.
(a) ମହିଳାମାନେ ପୁରୁଷଙ୍କ ଅପେକ୍ଷା ଶୀଘ୍ର ଇଂରାଜୀ ଶିଖିବା ଉଚିତ୍ |
(b) ପୁରୁଷମାନେ ମହିଳାଙ୍କ ପୂର୍ବରୁ ଇଂରାଜୀ ଶିଖିବା ଉଚିତ୍ |
(c) ପୁରୁଷମାନେ ମହିଳାଙ୍କ ଅପେକ୍ଷା ଇଂରାଜୀ ଶୀଘ୍ର ଶିଖନ୍ତି |
(d) ମହିଳାମାନେ ପୁରୁଷଙ୍କ ଅପେକ୍ଷା ଇଂରାଜୀ ଶୀଘ୍ର ଶିଖନ୍ତି |

Q64. He had a narrow escape.
(a) ସେ ସଂକୀର୍ଣ୍ଣ ଭାବରେ ପଳାଇ ଯାଇଥିଲେ।
(b) ତାଙ୍କର କେଶ ଖସି ଯାଇଥିଲା।
(c) ତାଙ୍କର ସଂକୀର୍ଣ୍ଣ ପଳାୟନ ହୋଇଥିଲା।
(d) ସେ କେଶ ଦ୍ୱାରା ପଳାଇ ଯାଇଥିଲେ।

Q65. I have received my passport.
(a) ମୁଁ ମୋର ପାସପୋର୍ଟ ପାଇଛି
(b) ମୁଁ ତାଙ୍କର ପାସପୋର୍ଟ ପାଇଛି
(c) ମୁଁ ମୋର ପାସପୋର୍ଟ ପାଇଥିଲି
(d) ସେ ମୋର ପାସପୋର୍ଟ ପାଇଛି

Q66. ଖଟ + ଇଆ = ଖଟିଆ
ଏଥିରେ ଇଆ ପ୍ରତ୍ୟୟଟି କେଉଁ ଅର୍ଥରେ ହୋଇଛି?
(A) ତିଆରି ଅର୍ଥରେ
(B) ଛୋଟ ଅର୍ଥରେ
(C) ସମ୍ବନ୍ଧ ଅର୍ଥରେ
(D) ଅତିଶୟ ଅର୍ଥରେ
 
Q67. ପାଠ + ଉଆ = ପାଠୁଆ।
ଏଥିରେ ଉଆ ପ୍ରତ୍ୟୟ କେଉଁ ଅର୍ଥରେ ହୋଇଛି?
(A) ଅଛି ଅର୍ଥରେ
(B) ସଦୃଶ ଅର୍ଥରେ
(C) ବୃରି ଅର୍ଥରେ
(D) ସମ୍ପର୍କ ଅର୍ଥରେ
 
Q68. ଶିବ + = ଶୈବ। ଏଠାରେ “ଅ”କେଉଁ ଅର୍ଥରେ ପ୍ରତ୍ୟୟ ହୋଇଛି?
(A) ଭାବ ଅର୍ଥରେ
(B) ଅପତୟ ଅର୍ଥରେ
(C) ଜାତ ଅର୍ଥରେ
(D) ଭକ୍ତ ଅର୍ଥରେ
 
Q69. ଇତିହାସ + ଇ = ଐତିହାସିକ
ଏଥିରେ ଇକ ପ୍ରତ୍ୟୟ କେଉଁ ଅର୍ଥରେ ହୋଇଛି?
(A) ସମ୍ବନ୍ଧ ଅର୍ଥରେ
(B) ଜାତ ଅର୍ଥରେ
(C) ଅଧୟନ ଅର୍ଥରେ
(D) ସମ୍ବନ୍ଧ ଅର୍ଥରେ
 
Q70. ରାଧେୟ ଏହା କେଉଁ ଅର୍ଥକୁ ପ୍ରକାଶ କରେ ?
(A) ରାଧାଙ୍କର ସ୍ୱାମୀ
(B) ରାଧାଙ୍କର ପୁତ୍ର
(C) ରାଧାଙ୍କ ସମ୍ବନ୍ଧୀୟ
(D) ରାଧାଙ୍କଠାରୁ ନ୍ୟୁନ
 
Q71. କେଉଁଟି ତଦ୍ଧିତ?
(A) ଜାନ
(B) ବିଜ୍ଞାନ
(C) ଅଜ୍ଞାନ
(D) ବୈଜ୍ଞାନିକ
 
Q72. କୁନ୍ତୀଙ୍ର ପୁତ୍ର- ଏକ ପଦରେ ପ୍ରକାଶ କଲେ କ’ଣ ହେବ?
(A) କୌନ୍ତେୟ
(B) କୁନ୍ତୀଙ୍କ ପୁତ୍ର
(C) ଅର୍ଜୁନ
(D) ଯୋଦ୍ଧା
 
73. କୁଲେଇ କେଉଁ ଅର୍ଥକୁ ପ୍ରକାଶ କରେ?
(A) କୁଲା
(B) କୁଲା ଠାରୁକ୍ଷୁଦ୍ର
(C) କୁଲା ଠାରୁବଡ଼
(D) କୁରା ସହିତ ସମାନ
 
Q74. ପୂର୍ଣ୍ଣ- ଏହିଶବ୍ଦର ପ୍ରକୃତି ପ୍ରତ୍ୟୟ କ’ଣ ହେବ?
(A) ପୁର + ତ
(B) ପୂର + ତ
(C) ପୂର + ତ
(D) ପୁର + ଣ
 
Q75. କୃତ୍ୟ – ପ୍ରକୃତି ପ୍ରତ୍ୟୟ କ ’ଣ ହେବ?
(A) କୁ+ ତ୍ୟ
(B) କୃତ୍ + ଯ
(C) କୁ+ କାପ୍
(D) କୃତ + ଯ
Q76. The price of 2 sarees and 4 shirts is Rs 1600. With the same money one can buy 1
saree and 6 shirts. If one wants to buy 12 shirts, how much shall one have to pay?
(a) Rs 2,400
(b) Rs 4,800
(c) Rs 1,200
(d) Rs 13,500

Q77. An article is sold at discount of 20% and an additional discount of 30% is allowed on
cash payment. If Namrata purchased the article by paying Rs 2240 in cash, the marked
price of the article was
(a) Rs 4000
(b) Rs 4368
(c) Rs 4400
(d) Rs 4480

Q78. The value of (72 + 34) ÷ 2 + [{(75 ÷ 15) + 6} × 2] is
(a) 74
(b) 75
(c) 86
(d) 78

Q79. A sum of Rs. 10000 is lent partly at 8% and remaining at 10% per annum. If the yearly
interest on the average is 9.2%, the two parts are:
(a) Rs. 4000, Rs. 6000
(b) Rs. 4500, Rs.5500
(c) Rs. 5000, Rs. 5000
(d) Rs. 5500, Rs. 4500

Q80. If a sum of money at simple interest becomes 17/14 times of itself in 13.5 years. In
how much time it will becomes 29/21 times of itself at same rate of interest.
(a) 23.5 years
(b) 24 years
(c) 24.5 years
(d) 22.5 years

Q81. Find the number which is as much greater than 49 as it is less than 95.
(a) 23
(b) 55
(c) 72
(d) 76

Q82. If 40% of a number is less than its 60% by 30, then the 20% of that number is.
(a) 40
(b) 60
(c) 30
(d) 50
Q83. If A, B and C, share profit  in the ratio of 4 : 5 : 9. If the profit for the year before charging 20% tax is 141642 Rs. What is B’s share of profit (in Rs) after tax?
(a) 30476.2
(b) 31478.3
(c) 31476.0
(d) 31478.0

Q84. The average age of 120 students is 14.69 years. 35% of the total students are girls and remaining are boys. If Ratio of average age of boys to girls is 6 : 5, then find the average age of girls (in years).
(a) 11
(b) 15.4
(c) 13
(d) 12.6

Q85. Mean proportion of 3.6 and 0.9 is ‘x’ and third proportion of 4 and 8 is ‘y’. find y – x = ?
(a) 0.18
(b) 14.2
(c) 16.18
(d) 15.18

Q86. Ram told Pankaj “I am thrice as old as you were when I was your age” if present age of Ram is 60 years. Then find present age of Pankaj?
(a) 30 years
(b) 50 years
(c) 20 years
(d) 40 years

Q87. A shopkeeper give a discount of 5% on Mark price of an article and sold it for Rs342. If he had not given the discount on mark price of the article he get profit of 12%. Find the cost price(in Rs) of the article? 
(a) 321.4
(b) 330 
(c) 320.5 
(d) 319

Q88. Find the average of 1, 2, 2, 3, 3, 3, 4, 4, 4, 4, 5, 5, 5, 5, 5, 6, 6, 6, 6, 6, 6,  7, 7, 7, 7, 7, 7, 7?
(a) 7
(b) 5
(c) 0
(d) 6

Q89. The compound interest on certain sum for 3 years at the rate  per annum compounded annually is 4340, then find how much compound interest is more than simple interest? 
(a) Rs720 
(b) Rs512  
(c) Rs500  
(d) Rs430 

Q90. If the compound interest on a certain sum for 3 years at the rate of 16.66% per annum compounded annually  is Rs 406.4 .Find the principle(in Rs). 
(a) 712.3
(b) 691.2
(c) 669.6
(d) 734.4

Q91. In what time will a sum is three times of itself at the rate of 12% per annum on simple interest. 
(a)  year 
(b)  year
(c)  year 
(d) 8 year
Q92.  A and B undertook to do a piece of work for Rs. 4500. A alone could do it in 8 days and B alone in 12 days. With the assistance of C they finished the work in 4 days. Then C’s share of the money is 
(a)Rs. 2250			
(b)Rs. 1500
(c)Rs. 750			
(d)Rs. 375
Q93. The average age of a Career Power batch of 20 students is 20 years. If the teacher's age is included the average increased by 1. The age of the teacher is:
(a) 41 years		
(b) 39 years	
(c) 45 years		
(d) 51 years

Q94. The average age of a husband-wife and their son was 42 years. The son got married and exactly after 1 year a child was born to them. When the child became 5 years old, the average age of the family became 36 years. What was the age of bride at the time of marriage? 
(a) 26 years 		
(b) 25 years 
(c) 24 years		
(d) 23 years 

Q95. What is the mean proportional of 135 and 540?
(a) 360
(b) 180
(c) 270
(d) 145

Q96. A number which, when increased by 123% becomes 3345. The number is—
(a) 1245
(b) 1575
(c) 1500
(d) 1775

Q97. The average of all prime numbers between 30 to 60 is—
(a) 45.53
(b) 41.42
(c) 44.43
(d) 44.90

Q98. The cube root of .000216 is:
(a) .6
(b) .06
(c) 77
(d) 87

Q99.  The least perfect square, which is divisible by each of 21, 36 and 66, is:

(a) 213444
(b) 214344
(c) 214434
(d) 231444
Q100.  [image: C:\Users\BLOCK 3\Downloads\Untitled.png]
(a) 13.41
(b) 20.46
(c) 21.66
(d) 22.35

Q101.  [image: C:\Users\BLOCK 3\Downloads\Untitled.png]
(a) 1.05
(b) 1.25
(c) 1.45
(d) 1.55

Q102.  [image: C:\Users\BLOCK 3\Downloads\Untitled.png]
(a) 0.1039
(b) 0.2078
(c) 1.1039
(d) 2.1039

Q103.  [image: C:\Users\BLOCK 3\Downloads\Untitled.png]
(a) 10
(b) 13
(c) 14
(d) 15

Q104.  A group of students decided to collect as many paise from each member of group as is the number of members. If the total collection amounts to Rs. 59.29, the number of the member is the group is:
(a) 57
(b) 67
(c) 77
(d) 87

Q105. 
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Q106. 
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Q107.
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Q108. 
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Q109. 
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Q110.  How many two-digit numbers satisfy this property.: The last digit (unit's digit) of the square of the two-digit number is 8 ?
(a) 1
(b) 2
(c) 3
(d) None of these
Q111. The conquest of Odisha by the British took place in the year: 
a) 1603 A.D. 
b) 1703 A.D. 
c) 1803 A.D. 
d) 1903 A.D.
Q112.  In which year the districts of Cuttack, Balasore and Puri were kept under East India Company? 
a) 1803 
b) 1813 
c) 1823 
d) 1857
Q113.  Bihar and Odisha got separated from the Bengal Presidency in the year? 
a) 1907 
b) 1912 
c) 1857 
d) 1803
Q114.  When was Odia language restored in Sambalpur after a long term demand? 
a) 1903 
b) 1905 
c) 1907 
d) 1909
Q115.  Which of the following provinces was transferred to the Odisha division in 1905? 
a) Paralakhemundi 
b) Ganjam 
c) Baleswar 
d) Sambalpur
Q116.  Ordinance Factories Day is observed on which Date?
(a) 18 March
(b) 19 March
(c) 17 March
(d) 16 March

Q117.  Gorakhpur city is located on which of the following river?
(a) Rapti
(b) Tapti
(c) Gomati
(d) Ghaghara

Q118.  Which country does the Maitri Setu connect India with?
(a) Nepal
(b) Bangladesh
(c) [image: ]Bhutan
(d) Pakistan

Q119.  Amman is the capital city of which country?
(a) Oman
(b) Yamen
(c) Jordan
(d) Bahrain

Q120.  What is ‘Sowa-Rigpa’?
(a) Tibetan system of medicine
(b) Tibetan Festivals
(c) Name of Herb found in Ladakh
(d) Yunani system of medicine

Q121.  Pushpagiri Wildlife Sanctuary is one of the most important bird sanctuaries of the world. The sanctuary is located in	.
(a) Karnataka
(b) Andhra Pradesh
(c) Telangana
(d) Kerala

Q122.  Jainsem is the traditional costume for women and is usually made of mulberry silk, a local specialty. Over the jainsem, they wear cotton shawls called tap-moh khlieh. The dress belongs to which state?
(a) Ladakh
(b) Tripura
(c) Meghalaya
(d) Assam

Q123.  ‘Fagli’ festival celebrated in which state of India?
(a) Uttarakhand
(b) Himachal Pradesh
(c) Haryana
(d) Rajasthan

Q124.  ‘Hola Mohalla’ festival was celebrated in which state of India?
(a) Uttarakhand
(b) Himachal Pradesh
(c) Haryana
(d) Punjab

Q125.  What is the theme of the International Women’s Day (IMD) 2023?
(a) Think Equal, Build Smart, Innovate for Change
(b) Re-Thinking Women's Empowerment and Gender Equality
(c) Women in the Changing World of Work
(d) #EmbraceEquity

Q126.  Which of the following countries will automatically qualify for the 2026 FIFA World Cup?
(a) Mexico, Canada, U.S 
(b) (b) Netherlands, Qatar, Mexico
(c) Canada, Mexico, Denmark 
(d) (d) Denmark, France, Belgium
Q127.  Tarkash is a military exercise between India and which country?
(a) China	
(b) Russia	
(c) US
(d) Malaysia
Q128.  Which among the following companies has launched the new version of its ‘Edge Chromium’ browser for both Mac and Windows platforms?
(a) Microsoft
(b) Apple
(c) Google
(d) Accenture

Q129.  What is the Capital and Currency of Portugal?
(a) Madrid And Euro
(b) Athens And Euro
(c) Sicily And Peso
(d) Lisbon And Euro

Q130.  Who is the inventor of the Bar Code?
(a) Justin
(b) George Louis
(c) George Laurer
(d) James Hawk

Q131.  Mahadayi river originates in which state?
(a) Goa
(b) Maharashtra
(c) Karnataka
(d) Madhya Pradesh
(e) Gujarat

Q132.  Guru Ghasidas National Park is located in which state which is set to become the state’s 4th ‘tiger reserve’?
(a) Uttar Pradesh
(b) Haryana
(c) Madhya Pradesh
(d) Chhattisgarh

Q133.  Dr. Shyama Prasad Mukherjee Indoor Stadium is located at which city?
(a) Sri Nagar, Jammu & Kashmir
(b) Punji, Goa
(c) Mumbai, Maharashtra
(d) Pune, Maharashtra

Q134.  In Which state is the Sardar Patel Zoological Park located?
(a) Gujarat
(b) Maharashtra
(c) Madhya Pradesh
(d) Rajasthan

Q135.  Which state was the overall champion of the 5th Khelo     India Youth Games?
(a) Haryana	
(b) Madhya Pradesh	
(c) Rajasthan
   (d) Delhi	
Q136.  A caste census was also conducted in 2011. When was the last time it was conducted before 2011?
(a) 1931
(b) 1911
(c) 1945
(d) 1991

Q137.  Which Indian private sector bank has the maximum number of foreign branches ?
(a) ICICI Bank
(b) AXIS Bank
(c) HDFC Bank
(d) Bandhan Bank

Q138.  Which of the following does not feature on the firstly released Rs 200 notes?
(a) Ashoka Pillar
(b)  Sanchi Stupa
(c) Swachh Bharat Abhiyan Logo
(d) Hampi with Chariot

Q139. Who calculates WPI in India?
(a) NSSO
(b) CSO	
(c) OEA	
(d) CAG

Q140. What is the modern name of rig vedic “Sutudri”?
(a) Jhelum
(b) Chenab
(c) Sutlej
(d) Kabul

Q141. According to the categories of land mentioned in the Chola inscriptions	was known as the land donated to Jaina institutions?
(a) Vellanvagai	
(b) Brahmadeya
(c) Shalabhoga	
(d) Pallichchhandam

Q142. Which organisation conducted training programmes for the volunteers, whose services were later utilised for relief work among people suffering form famines, epidemics, floods and other disasters ?
(a) Social Service League	
(b) Brahmo Samaj
(c) Rama Krishna Mission
(d) None of the above

Q143. Prithviraja III (1168-1192) was a best known _____________________________ ruler.
(a) Chahamana
(b) Gahadavala
(c) Chalukya
(d) Brahmana

Q144. In 1918, Mahatma Gandhi went to	to organise a satyagraha movement amongst cotton mill workers.
(a) Madras
(b) Bombay
(c) Surat
(d) Ahmedabad

Q145. The only perennial river in Peninsular India is ________________________.
(a) Godavari
(b) Kaveri
(c) Krishna
(d) Bhima

Q146. In Windows operating system it is a window that is used to display text or to receive text from you. The type of text it displays or the type of text you are asked to provide depends on the application or the situation.
a) Command Buttons

b) Dialog Boxes

c) Control’s Focus

d) Text Boxes

Q147. To delete the selected item permanently, press __________.
(a) Alt + Delete
(b) Shift + D
(c) Shift + Delete
(d) Alt + D

Q148. Which of the following is a requisite to ‘boot’, the system?
(a) Complier
(b) Mouse
(c) Operating system
(d) Assembler
Q149. What is the first windows version?
a) Windows NT
b) Windows 3.0
c) Windows 1.01
d) Windows XP

Q150. What type of extension name do notepads use?
a) .png
b) .txt
c) .jpeg
d) .xip
Q151. Which key combination is used to minimize all open windows and displays in the screen?
(A) Alt+M
(B) Shift+M
(C) Windows Key+D
(D) CTRL+DHide AnswerAnswer 

Q152. A symbol or question on the screen that prompts you to take action and tells the computer what to do next ________.

a) scanner

b) questionnaire

c) prompts and dialog box

d) information seeker

Q153. The operation of combining two cells into a single cell in Excel is referred to as ________.
(a) Join cells
(b) Merge cells
(c) Merge table
(d) Join table
Q154. Which key should you use to indent the first paragraph of your report?
(a) tab key
(b) return key
(c) space bar
(d) shift key

Q155. To move to the bottom of a document, press______.
(a) Insert key 
(b) Home key 
(c) Ctrl key + End key
(d) End key 

Q156. Which of the following file format can be added to a PowerPoint show? 
(a) .jpg
(b) .gif
(c) .wav
(d) All of these 

Q157. A table consist of _______ and _________, which are referred as field and record in DBMS term.
(a) Columns & Rows
(b) Lines & Rows
(c) Columns & Lines
(d) Rows & Points

[bookmark: _Hlk510715171]Q158. Which operation performs a set union of two ‘similarly structured’ tables?
(a) Union
(b) Select
(c) Product
(d) Intersect

Q159. Which is the command used to remove text or graphics from a document and the information is then stored on a clipboard so you can paste it later on?
(a) Cut
(b) Clip
(c) Chop
(d) Chew

Q160. In railways, which of the following types of computers is used?
(a) Mini Computers
(b) Super Computers
(c) Micro Computers
(d) Main Frame Computers

Q161.The point at which the flow of text in a document moves to the top of a new page–
(a) Page insert
(b) Page break
(c) Page format
(d) All of the above
 
Q162. Which of the following features is used to count the number of pages, words, characters, paragraphs and lines in a Word document? 
(a) Orientation
(b) Page Count
(c) Word Count
(d) Margin
 
Q163. To justify the selected text, the shortcut key is __________.
(a) Ctrl + 1
(b) Ctrl + J
(c) Ctrl + U
(d) Ctrl + Alt + K
 
Q164. Which of the following key combination can be used to print a document?  
(a) Ctrl + P
(b) Tab + P
(c) Alt + P
(d) Windows logo key + P

Q165. Which of the following type of software secretly collects information about you and your internet habits?
(a) Detectware
(b) Spam
(c) Spyware
(d) Spooling
Q166. Which of the following is a common name for the crime of stealing password?
(a) Spooling
(b) Ransomware
(c) Hacking
(d) Spoofing
(e) None of these


Q167. Which of the following is not an example of a Web Browser?
(a) Outlook
(b) Internet Explorer
(c) Safari
(d) Chrome

Q168. Generally, web address is also referred by _________.
(a) Hyperlink
(b) HTTP
(c) URL 
(d) Locator


Q169. The bottom section of the screen, on which we can find START button is called?
(a) Taskbar
(b) Toolbar
(c) Insert menu
(d) Status bar
Q170. Latest version of Microsoft Excel 2019 released in which year?
[bookmark: _GoBack](a) 2018
(b) 2019
(c) 2020
(d) 2021

Q171. What is the minimum zoom percentage in Microsoft word respectively?
[bookmark: _Hlk112677121](a) 10 %
(b) 20 % 
(c) 30 % 
(d) 40 %

Q172. Android Operating system is an example of which kind of source model?
(a) Vertical marketing software
(b) Open source
(c) Horizontal market software
(d) Shareware

Q173. In power point, the Header & Footer button can be found on the insert tab in what group?
(a) Illustration group
(b) Object group
(c) Text group
(d) Table group

[bookmark: _Hlk112687121]Q174. In MS word, the shortcut key for undo is
(a) Ctrl + w 
(b) Ctrl + x
(c) Ctrl + y
(d) Ctrl + z

Q175.Which of the following groups contains graphical file extensions?
(a) JPG, GIF, BMP
(b) GIF, TCF, WMF
(c) TCP, JPG, BMP
(d) ADP, GIF, PPT
(e) JPG, CPX, GCM
Q176. If a word is typed that is not in MS Word’s dictionary, a wavy underline appears below the word. What is the color of the underline that appears in this situation?
(a) Blue
(b) Red
(c) Green
(d) Black
(e) Pink

Q177.Which of the following features lets you rotate the text in any direction?
(a) Text box
(b) Alignment
(c) Formatting
(d) Text rotation

Q178. What is the full form of MOUSE in computer system?
(a) Manually Operated User Section Equipment
(b) Manually Operated Under Selection Equipment
(c) Manually Operated User Selection Equipment
(d) Manually Operated User Selection Equivalent

Q179. Which of the following is not valid version of MS Office?
(a) Office 2010
(b) Office 2007
(c) Office XP
(d) Office vista

Q180.Which among the following options is the application that combines text, sound, graphics, motion video, and/ or animation? 
(a) Multimedia
(b) Minimedias
(c) Video scopes
(d) Motionware
(e) Macromedia


Answers

S1. Ans. (b)
Sol. He tried to solve the sum but he could not.
S2. Ans. (d)
Sol. Had you worked hard, you would have passed the examination
S3. Ans. (d)
Sol. I ran fast so that I might catch the train
S4. Ans. (b)
Sol. You should read his latest book
S5. Ans. (b)
Sol. As you sow, so shall you reap
S6. Ans. (b)
S7. Ans. (b)
S8. Ans. (b)
S9. Ans. (d)
S10. Ans. (a)
S11. Ans. (b)
S12. Ans. (c)
S13. Ans. (b)
S14. Ans. (b)
S15. Ans. (b)
S16. Ans. (a)
Sol. He is a famous scientist about whom many books have been written.
S17. Ans. (b)
Sol. The book which you gave me is not so useful for learning English speaking
S18. Ans. (b)
Sol. This is the house where I was born
S19. Ans. (b)
Sol. There is nothing that I can do for you
S20. Ans. (b)
Sol. The girl whom you see at the desk is the receptionist
S21. Ans. (b)
S22. Ans. (a)
S23. Ans. (a)
S24. Ans. (d)
S25. Ans. (c)
S26. Ans. (d)
S27. Ans. (c)
S28. Ans. (b)
S29. Ans. (b)
S30. Ans. (b)
S31. Ans. (a)
S32. Ans. (b)
S33. Ans. (a)
S34. Ans. (b)
S35. Ans. (a)
S36. Ans.(d)
Sol. The correct answer is option d.
Refer to fifth paragraph where it mentions, ‘Polio vaccination is still recommended worldwide to lower the risk of imported cases.’ 

S37. Ans.(c)
Sol. The correct answer is option c.
Refer to the last paragraph, ‘The last case of type 2 was reported in 1999’.

S38. Ans.(b)
Sol. The correct answer is option b.
Vigorous – carried out forcefully and energetically.
Synonyms – Resolute, Determined.

S39. Ans.(c)
Sol. The correct answer is option c.
Refer to the 5th paragraph where it mentions, ‘Because of widespread vaccination, polio was eliminated from the Western Hemisphere in 1994.’ And refer to the 2nd paragraph where it mentions, ‘For a time, polio was called infantile paralysis, though it did not affect only the young.

S40. Ans.(b)
Sol. The correct answer is option b.
Refer to the 4th paragraph where it mentions, ‘However, better sanitary conditions meant that exposure to polio was delayed until later in life, on average, when a child had lost maternal protection and was also more vulnerable to the most severe form of the disease.’
S41.Ans. (b)
Sol. ମନୋବାଞ୍ଛା
 S42.Ans. (c)
Sol.ଜଗନ୍ନାଥ
S43.Ans. (c)
Sol.ନୀରିହ
S44.Ans. (d)
Sol.ଭୂ+ଊର୍ଦ୍ଧ୍ଵ
S45.Ans. (b)
Sol.ଅନୁ +ଏଷଣ
S46.Ans. (d)
Sol.ସୁ +ଆଗତ
S47.Ans. (d)
Sol.ନେ +ଅନ
S48.Ans. (c)
Sol.ପୋ + ଅନ
S49.Ans. (a)
Sol.ଗୋ + ଅକ୍ଷ
S50.Ans. (b)
Sol.ବକ୍ + ଗାଡମ୍ବର 
S51.Ans. (a)
Sol.ମାତା ଓ ପିତା
S52. Ans. (d)
Sol.ଗ୍ରାମାନ୍ତର
S53. Ans. (b)
Sol.ସାବିତ୍ରୀ ବାଳିକା
S54. Ans. (b)
Sol.କର୍ମଧାରୟ
S55. Ans. (b)
Sol.ଉପମାନ କର୍ମଧାରୟ
S56.Ans. (c)
Sol.ଧର୍ମୋନ୍ମତ୍ତମାନେ
S57.Ans. (a)
Sol.ଈଶ୍ୱରଙ୍କୁ ଭଲ ପାଇବା
S58.Ans. (a)
Sol.ଗୀତା
S59.Ans. (b)
Sol.ବିଷ୍ଣୁପୁରାଣ
S60.Ans. (c)
Sol.ହିନ୍ଦୁଧର୍ମ
S61.Ans. (a)
Sol.ଆମେ ଆମର ଜଳଖିଆ ନେଇଛୁ |
S62.Ans. (b)

Sol.ସେ ମୋ ପାଇଁ ଟ୍ୟାକ୍ସି ଡାକିଲେ।
S63.Ans. (d)
Sol. ମହିଳାମାନେ ପୁରୁଷଙ୍କ ଅପେକ୍ଷା ଇଂରାଜୀ ଶୀଘ୍ର ଶିଖନ୍ତି |
S64.Ans. (c)
Sol.ତାଙ୍କର ସଂକୀର୍ଣ୍ଣ ପଳାୟନ ହୋଇଥିଲା।
S65.Ans. (a)
Sol.ମୁଁ ମୋର ପାସପୋର୍ଟ ପାଇଛି
 S66. Ans. (d)
Sol.କୃଦନ୍ତ
S67. Ans. (a)
Sol.କୃତ୍
S68. Ans. (b)
Sol.ଶମ୍
S69. Ans. (c)
Sol.ଈୟ
S70. Ans. (d)
Sol.ଇନ୍
S71. Ans. (c)
Sol. ପାଠକ
S72. Ans. (a)
Sol.ଜିଜ୍ଞାସା
S73. Ans. (c)
Sol.ଦାଶରଥି
S74. Ans. (a)
Sol.ତତ୍ ସମ କୃଦନ୍ତପଦ
S75. Ans. (a)
Sol.ସନ୍ ପ୍ରତ୍ୟୟ
S76. Ans. (a)
Sol.
[image: ]

S77. Ans. (a)
Sol.
[image: ]

S78. Ans.(b)
Sol. 
[image: ]

S79. Ans. (a)
Sol.
[image: ]

S80. Ans.(b)
Sol. 
[image: ]


S81. Ans.(c)
Sol. 
[image: ]

S82. Ans.(c)
Sol. 
[image: ]

S83. Ans (c) 
Sol. A   B   C
4 : 5 : 9 
4 + 5 + 9 = 18

B’s Share =  × 80
= 31476 

S84. Ans.(c)
Sol. 
[image: ]
 = 14.69
x = 2.6
Required average = 5 × 2.6 = 13 years.

S85. Ans.(b)
Sol. X =  = 1.8
 = 16
Y – X = 16 – 1.8 = 14.2

S86. Ans.(d)
Sol. 
[image: ]
ATQ, 
60 = 3 (2x – 60)
x = 40 years
S87. Ans (a) 
[image: ]Sol. 




If he not give any discount 
12% = 
28  360
1 
25 
= 321.42 

S88. Ans (b) 
Sol. 
= 
= = 5

S89. Ans (c)
Sol. 12% = 
[image: ]
CI is 500 Rs. more then SI 

S90. Ans (b) 
Sol. 16.66% = 
[image: ]

S91. Ans (b) 
Sol. Principle = 
Amount = 
A.T.Q.  = 
t=
=  years. 

S92. Ans. (c)
Sol.
[image: ]

S93. Ans. (a)	
Sol.
[image: ]

S94. Ans.(b) 
Sol.
[image: ]

S95. Ans.(c)
Sol. x² = 135 × 540
x = 
= 270

S96. Ans.(c)
Sol. 
[image: ]

S97. Ans.(c)
Sol. Req. Avg. = 
= 
= 44.43

S98. Ans. (b)
Sol. [image: C:\Users\BLOCK 3\Downloads\Untitled.png]

S99. Ans. (a)
Sol. L.C.M. of 21, 36, 66 = 2772.
Now, 2772 = 2 x 2 x 3 x 3 x 7 x 11
To make it a perfect square, it must be multiplied by 7 x 11.
So, required number = 22 x 32 x 72 x 112 = 213444

S100. Ans. (a)
Sol. [image: C:\Users\BLOCK 3\Downloads\Untitled.png]
S101. Ans. (b)

S102. Ans. (c)
S103. Ans. (c)
S104. Ans. (c)
S105. Ans. (b)
S106. Ans. (b)
S107. Ans. (a)
S108. Ans. (b)
S109. Ans. (c)
S110. Ans. (d)
S111. Ans. (c)
S112. Ans. (a)
S113. Ans. (b)
S114. Ans. (a)
S115. Ans. (d)
S116. Ans. (a)
8 March is celebrated as the Ordnance Factory Day in India. OFB is the world's largest government-operated production organisation, and the oldest organisation run by the Government of India.
It has a total workforce of about 80,000.
S117. Ans. (a)
Gorakhpur is a city along the banks of the Rapti river in the north-eastern part or the Purvanchal region of the Indian state of Uttar Pradesh.
It is situated 273 kilometres north-east of the state capital Lucknow.
S118. Ans. (b)
Explanation: Narendra Modi inaugurated Maitri Setu also called as India Bangladesh Friendship Bridge to give a boost to the relationship between the two countries.
S119. Ans. (c)
Amman is the capital and largest city of Jordan and the country's economic, political and cultural centre.
S120. Ans. (a)
“Sowa-Rigpa” commonly known as Tibetan system of medicine is one of the oldest, Living and well documented medical tradition of the world.
It has been originated from Tibet and popularly practice in India, Nepal, Bhutan, Mongolia and Russia.
The majority of theory and practice of Sowa-Rigpa is similar to “Ayurveda”.
S121. Ans. (a)
Pushpagiri Wildlife Sanctuary is one of 21 Wildlife Sanctuaries of India's Karnataka state.
This sanctuary is located in Somwarpet taluk of the Kodagu district.
It is home to rare and endangered birdlife.
The Kadamakkal reserve forest is a part of the sanctuary. Pushpagiri is the highest peak in it.
S122. Ans. (c)
Meghalaya is home to the Khasi, Jaintia and Garo tribes. Jainsem is the traditional costume for women and is usually made of mulberry silk, a local specialty. Over the jainsem, they wear cotton shawls called tap-moh khlieh.
Garo women can be seen wearing eking — a wraparound.
S123. Ans. (b)
S124. Ans. (d)
‘Hola Mohalla’ is the annual Sikh festival celebrated on the following day of the festival Holi at Sri Anandpur Sahib, Punjab.
The festival will be celebrated for 3 days from March 10 to 12, 2020.
The festival aims to physically strengthen Sikh community by holding acrobatic military exercises and mock battles.
S125. Ans. (d)
This year, the theme for International Women's Day (8 March), “#EmbraceEquity,”
S126. Ans. (a)
Sol. The U.S. men’s national team, Mexico and Canada, will automatically qualify for the 2026 FIFA World Cup.
S127. Ans. (c)
Sol. Tarkash is a military exercise between India and US. A joint counter-terrorism exercise between National Security Guard (NSG) and US Special Operations Forces (SOF) culminated in Chennai.
Theme: "Promotion of Mizos' culture and moral code"
 S128. Ans. (a)
Microsoft announced the first stable launch of its Edge browser built on the Google Chromium open source project. Microsoft Edge can be downloaded on both Windows machines and Macs.
S129. Ans. (d)
Capital of Portugal is Lisbon and Currency is Euro.
Portugal is a southern European country on the Iberian Peninsula, bordering Spain.
S130. Ans. (c)
George J. Laurer (94-years) passed away at his home in Wendell, North Carolina in the US.
Mr. Laurer was an electrical engineer with IBM in North Carolina’s Research Triangle Park in the early 1970s when he spearheaded the development of the UPC (Universal Product Code), or bar code.

S131. Ans. (c)
Mahadayi river originates from Western Ghats from the Bhimgad Wildlife Sanctuary in Khanapur taluk of Karnataka’s Belagavi district.
Flowing westward, it enters Goa from Sattari taluk of North Goa districts.

S132. Ans. (d)
Chhattisgarh government has announced that the state is set to have Guru Ghasidas National Park in Kotiya district as its fourth ‘tiger reserve’.
This decision was taken in 11th meeting of Chhattisgarh State Wildlife Board chaired by Chief Minister Bhupesh Baghel.
S133. Ans. (b)
Dr Shyama Prasad Mukherjee Indoor Stadium is an indoor stadium located in Punji, Goa
S134. Ans. (a)
· Sardar Patel Zoological Park is located in Gujarat which is coming up near the ‘Statue of unity’ in Kevadia.
It was recently in news because it has got 43 new inmates from across the world.
S135. Ans. (d)
Sol. Maharashtra was the overall champion of the Khelo India Youth Games by securing a total of 161 medals including 56 gold, 55 silver, and 50 bronze medals * PM Modi is expected to perform yoga asanas based on the Common Yoga Protocol.
S136. Ans. (a)
The Socio Economic and Caste Census 2011 (SECC) was conducted for the 2011 Census of India. It was last conducted in 1931.
S137. Ans. (a)
ICICI bank has the maximum number of foreign branches amongst the private sector banks. SBI leads the list of public sector banks, followed closely by Bank of Baroda.
S138. Ans. (d)
Hampi with Chariot is visible on the new Rs 50 notes.
   S139. Ans. (c)
S140. Ans. (c)
Sutlej”is the modern name of rig vedic Sutudri“. Sutlej is the longest of the five rivers that flow through the historic crossroads region of Punjab in northern India and Pakistan. The Sutlej River is also known as Satadree. It is the easternmost tributary of the Indus River. The river basin area in India is located in Himachal Pradesh, Punjab, Jammu and Kashmir, Rajasthan and Haryana states.
S141. Ans. (d)
According to the categories of land mentioned in the Cholainscriptions,there are five types of land which are discussed below:
Vellanvagai : land for non-Brahmana, peasant proprietors
Brahmadeya : land gifted to Brahmanas
Shalabhoga : land for the maintenance of a school
Devadana : Tirunamattukkani: land gifted to temples
Pallichchhandam : land donated to Jaina institutions
S142. Ans. (a)
1911, Narayan Rao Malhar Joshi established an organization called the Social Service League.
The League conducted training programmes for volunteers, whose services were later utilized for relief work among people suffering form famines, epidemics, floods and other disasters, and also for welfare programmes among the poor and the destitute.
S143. Ans. (a)
Prithviraja III (1168-1192) was a best known Chahamana ruler.
He defeated an Afghan ruler whose name was Sultan Muhammad Ghori in 1191, but lost to him the very next year, in 1192.
He was popularly known as Prithviraj Chauhan or Rai Pithorain Chahamana Dynasty later known to be as Chauhan Dynasty.
S144. Ans. (d)
Mahatma Gandhi went to Ahmedabad in 1918 to organise a satyagraha movement amongst cotton mill workers. This happens due to tension between workers and mill-owners of Ahmedabad. Gandhiji himself went onto a fast until death and asked the workers to go on a strike and demand for a hike of 35% in their wages.
S145. Ans. (b)
S146.Ans. (d)
Sol. In Windows operating system, a text box is a graphical user interface element used to input, edit, and display text data. Text boxes are commonly used in various applications such as word processors, web browsers, and email clients, among others.
S147. Ans. (c)
Sol. Shift + Delete will delete the selected item permanently
S148. Ans. (c) 
Sol. An operating system is required to boot a system .
S149. Ans. (c) 
Sol. Windows 1.01. The first Windows version was built around the year 1985, and it marked a historical development in the field of software programming as it was one of the most advanced operating systems that were ever made.
S150. Ans. (b) 
Sol. .txt. Every program that produces output like a photo or a text can be saved using different extension types. The notepad uses the .txt format, which means “text”. These are widely used formats for recording texts on an operating system.
S151. Ans. (c) 
Sol. Windows Key+D
S152. Ans. (c) 
S153.Ans (b)
Sol. The operation of combining two cells into a single cell in Excel is referred to as merge cells.
S154.Ans (a)
Sol.  Tab Key can be used for indentation.
S155.Ans (c)
Sol. To move to the bottom of a document, press Ctrl key + End key.
S156. Ans (d)	
Sol. All these formats can be added to a PPT.
S157. Ans (a)
Sol. A table consist of columns and rows, which are referred as field and record in DBMS term.
S158. Ans. (a)
Sol. Union operation performs a set union of two ‘similarly structured’ tables.
S159. Ans.(a)
Sol. The Office Clipboard stores text and graphics that you copy or cut from anywhere, and it lets you paste the stored items into any other Office file. 
S160. Ans.(d)
Sol. In Railways, Mainframe Computers is used.
S161.Ans.(b)
Sol. 
A page break is a marker in an electronic document that tells the document interpreter that the content which follows is part of a new page.
S162.Ans.(c)
Sol. 
The Word Count command displays the total number of page, words and lines in a document.
S163.Ans. (b)
Sol.  Ctrl + J is the shortcut key to justify text.
S164.Ans. (a)
Sol.  Ctrl + P is used to print document(s).
S165. Ans.(c)
Sol. Spyware usually finds its way onto your computer without your knowledge or permission. It runs in the background, collecting information or monitoring your activities. 
S166. Ans.(d)
Sol. spoofing refers tricking or deceiving computer systems or other computer users. This is typically done by hiding one’s identity or faking the identity of another user on the Internet.
S167. Ans.(a) 
Sol. Outlook is an e-mail service.
S168. Ans. (c) 
Sol. URL is the abbreviation of Uniform Resource Locator. URL is the global address of documents and other resources on the World Wide Web. A URL is one type of Uniform Resource Identifier (URI).
S169. Ans (a)
Sol. The bottom section of the screen, on which we can find START button is called taskbar.
S170. Ans (b)
Sol. Microsoft Excel version, Excel 2019 released in 2019.
S171. Ans (a)
Sol. the minimum and maximum zoom percentage in Microsoft word is 10 % and 500 % respectively.
S172. Ans (b)
Sol. Android Operating system is an example of Open-source operating software.
S173. Ans (c)
Sol. In power point, the Header & Footer button can be found on the insert tab in text group.
S174. Ans (d)
Sol. In MS word, the shortcut key for undo is Ctrl + Z

S175. Ans.(a)
S176. Ans.(b)
Sol.  This indicates either a possible spelling error or that Word doesn’t recognize a word, such as a proper name or place. Green underline- Word thinks that grammar should be revised. Blue underline- A word is spelled correctly but does not seem to be the correct word for the sentence.
S177. Ans.(d)
Sol. The Text Rotation command allows you to rotate the text in any direction.

S178. Ans (c)
Sol. Full form of MOUSE is Manually Operated User Selection Equipment.

S179. Ans (d)
Sol. Office vista is not valid version of MS Office.
S180. Ans (a)
Sol. Multimedia is content that uses a combination of different content forms such as text, audio, images, animation, video, and interactive content.
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